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Theozonelayer setsinthealtitude of about :

(A) 15-55Km (B) 50—-80Km

(C) 10-12Km (D) 5—-10Km

Tropica cyclonesor hurricanesdevel op over oceanin latitudes:

(A) 8°to15° N and South (B) 15°to20° N and South

(C) 5°t010° South (D) 5°to10° North

Which oneof thefollowing pairsiscorrectly method ? P, &

(A) A.N.Strabler —Pediplain (B) W.M.Davis—Peneplain {‘ 4

(C) L.C.King—Peneplain (D) CH. Crickmay—SIopeequiIiE)rium / |
f L]

Which of thefollowing codesiscorrect ? r '

(1) Karsttopography —Blindvalley - |

(2) Humidtopography —Stone L attice <A v ¥

(3) Aeoliantopography —Ventifacts ol L\ F

(4) Periglacial tapagraphy —Pingo - { (

Select the correct answer using the codes given below : » )

(A) 1,2and3 (B) d4

(© 1,2and4 (DY 2,3and 4

LeHavreisafishing bank locatedin ;
(A) North-east pacific (B) South- pacif}p

(C) NorthAtlantic 4 & (D) South

Which one of thefollowing pairsiscorregi]y fnatched in Kappen's Scheme?

(A) Cs— summer rains ) A (B) Af — rainthroughout theyear
(C) Et— winterrain - (D) Df — summer snow

2 2

Themain cause of Kalahari being adesertis:

(A) thecold currentsnear thgcoast .

(B) itslocation onthefWVest coast inthetropics

(C) itslocationinthetropics

(D)increased num o%urjnan and cattle population
F

Th( boundary zone eNorth American Plateand the Eurasian Plate exhibitsconditions
of :
(A) Convergence | (B) Divergence
(C) Sinking (D) Siding
Important coastd citieslinking ocean and river traffic are often Situated on or near deltas. Which of
thefoll hg examplesisnot trueinthisconnection ?
(A) Marsalliesonthe Rhone (B) DdhiontheYamuna
(C) PaisontheRhine (D) Noneof theabove
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10. ‘Manchester’ of Japanis:
(A) Kobe (B) Osaka
(C) Nagoya (D) Tokyo
11. Intheprocessof deltaformation, the sediment brought out by the stream isspread along the shore
inboth directionsfrom theriver mouth, giving apointed deltawith curved sidesand resemblesto
asharptooth, isnamed :
(A) Edurianddta (B) Bird-foot ddta
(C) Cuspateddta (D) Arcuateddta \ &
¢
1
12. Anareawhich hasnot been glaciated may feature: - / .
(A) Hangingvaley (B) Corriesand pyramidal pesks™ { v
(C) Drumlins (D) V-shapedvalleys r d
13. A commonglacia formwith smoothly rounded, over hill resembling thebowl of enlgvertedté?bo
iscalled: i
(A) Drumlin (B) Gladfiutia sedm{am
(C) Hangingvdley (D) e of theabove
14. Which oneof thefollowingisthe correct sequenceintgfmsof ding valuesof Albedo ?
(A) Forest, snow, water (B) Snowfforest, water
(C) Water, snow, forest (D) Forestywyéter, snow
15. Foehnand Chinook windsoccur in: v £
(A) Thevadley of theNorthernAlpsin S/vlt andonthe Eege'm“slopesof RockiesinNorth
America
(B) Theeastern dopesof SouthernAbil n Switzerland and oft the Western dopesof Andesin
SouthAmerica
(C) PovdleyinNorthernltalyy
(D) TheNetherlandsand New-Zealand
16. Acoldloca winddrai 1|| ng occasi c!nal ly down the Rhone Valley in Southern Franceisknown
as:
(A)Chicook - & (B) Misra
© fBora :\\ (D) Blizzad
17. TheEl-Ninowhichinfluenced thelndian Monsoonis:
A) A col dcurrent th lowsnorthwards along the coast of Chile
(B) A warm ocean curfent that flowswestwards al ong the coast of Equador and Peru
(©) Alew pressuresy em over Western coast of Spain
(D) None of the above
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18. Sdlinity in ocean water decreaseswhen:
(A) Evaporaionismore (B) Windvdocityishigh
(C) Ranfdlisheavy (D) Humidityishigh
19. Followingrelief zonesarethe characteristicsof Ocean Basins:
(1) Continental dope
(2) Continentd Shelf
(3) DeepSeaPlain
(4) OceanicTrench ) ‘..-k
The correct sequence of their seaward appearancefromthecoastis: ( 4
(A) 2,1,4,3 (B) 1,2,4,3 = / |
(C) 2,1,3,4 (D) 1,2,3,4 rﬁ ' { v/
20. Which oneof thefollowing statementsregarding El-Ninoisnot true? - . r
(A) Itisanextensionof theequatorial current towardsthe Western coast of South Amefica’
(B) Itisanoccasiona warm current leading to anincrease of.about 10°Ci 'i‘fa:etempel&ure
(C) Itdevelopsasatemporary replacement of theusual coId'F!erLM'ancur t ‘
(D) Itcausesanincreasein planktonswhich thriveinthe gald Peruwian current
21. MaichList] against List Il and mark the correct answ
List1 Rock Class List 11 ock
(@ Intrusveigneous (1) Peat ;
(b) Extrusiveigneous (2 Quatzite /
(c) Sedimentary (3) Dglerite v
(d) Metamorphic 4 B (“
Codes: . | b
a b ¢ d V4
A3 4 1 2 -
B 4 3 2 14,
©2 4 3 4.
®3 1 4 & ‘f
22. MatchList] agai nsg,j‘!l I1 and mark the correct answer :
<Listd . Listll
a (Loes :\\ 1. Riverdeposited
b. ¥ Moraines 2. Glacier deposited
c. Graves ’ 3. Winddeposited
d. SandandClay | 4. Seadeposited
Codes:
a b Jjc d
Ay 4 1.3 2
(B) ‘_3 2 4 1
S ¥ 2 3 4
@) 3 4 1 2
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23. MatchListl against List Il and mark thecorrect answer :

Listl
a  Uniformitaianiam
b. Baselevd

c. Continentd drift

E O

List1l
Powell
Hutton
Hess
Wegener

(B) Mortdity

d. Seafloor spreading
Codes:
a b c d
A~ 1 2 4 3
® 2 1 4 3
© 4 3 2 1
) 2 1 3 4
24. Themaindeterminant of population changeis:
(A) Fetility
(C) Migraion

25. Mogt partsof Africahavelow population density because;
(A) Thephysica environmentisnot favourable

(C) Thepeoplelimittheir families

26. Which oneof thefollowingiswords'smost extensivelareaof dén
(B) Europe
(D) Africa

(A) EastAsa
(C) NorthAmerica

27. Themajor characteristic of the Europeart@l

(A) Rurd Population V4
(C) Sedentary Population \

(D) Both(B) and ©)

9

B) Andi

population ?

eristhatitisdominated by :
(B) Urban Populatlon
(D) Noneof them

pleinhabit the continent
(D)f Mortality rateisvery high

28. Whichoneof thefollowi ng‘bomfh&sof Africacomprisestwo cultural reAlmswhichledtothe

divisonof thecountry 7 _ ‘,
(A) SouthAfrica
© Kenya

(A) China
© In_dia‘

29. On f thefollovvl ng %Wlth growthrateof population below 1%is:

30. The ca.tfléherders of Ejst Africaareknown as:

(B) Sudan
(D) Ethiopia

(B) USA
(D) Canada

(A) M
©) K
4
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31. Bgadaistheformationof :

(A) Depostion (B) Eroson
(C) Solution (D) Transportetion
32. Thelowestlayer of theatmosphereisthe:
(A) Troposphere (B) Stratosphere
(C) Mesosphere (D) Noneof them
33. Seacavesaretheresult of : ) Hk
(A) Glacia erosioninthecoastal areas (B) Wavedepostion {‘ .
(C) Winderoson (D) Noneof theabove - / .
V. N/
34. When doesthelongest day occur inthe Northern Hemisphere ? f r
(A) 21stMarch (B) 21stJune - [
(C) 22nd December (D) 31stDecember _ 4} -fr‘
35. Tida hypothesiswasformulated by : - { (
(A) Kant (B) ae » )
(C) Newton (D) and Jelfrey
36. Whichisthesingleconstituent of air comprising of marethan 70% gf volumeof dry air ?
(A) Oxygen (B) Nitrogr
(C) Cabondioxide (D) Ozone f
37. Inwhichlayer of the atmosphere do most of t‘%&eather phenor‘enaoccur ?
(A) Troposphere 4 (B) Stratogphere
(C) Mesosphere } A (D) Ozondsphere
38. Thecritical temperature below vyh} ch condensation starts, isknown as:
(A) Dew point "'“ | % (B) Mdtingpoaint
(C) Condensationpoint _ (D) Precipitation point
39. Thehot dust-laden gan‘é from Saharademt to Mediterraneanregioniscalled:
(A)“Chinook - (B) Foehn
(C)(Mistrd 1 (D) Srocco
40. Thedaily andannua r eoftemperatureismaximuminthe:
(A) Savanhahgrasdan (B) Temperategrassand
(C) Hotbesert (D) Equetorid region

41. Whichojthefollowingtypesof climateshasthe characteristicsof dry summer with grest sunshine
andrai ny w inters?

(A) Equatorﬂ (B) Mediterranean
(C) Tropicd (D) Tundra
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42. Whichisthemain activity of the Eskimosduring theshort period of Summer Season ?
(A) Hshing (B) Lumbering
(C) Hunting (D) Animd grazing
43. What doestheletter ‘' C' in Koeppen'sclimate code mean ?
(A) Tropicd climates (B) Warmtemperateclimates
(C) Snow climates (D) DryClimates
44. Hurricanesor typhoonsisanexampleof :
(A) Wavecyclones (B) Tropica cyclone
(C) Tornado (D) Airmasses
45. Frontogenesismeans:
(A) Occlusionof thefronts (B) Migrationof thefronts ==
(C) Formation of thefronts (D) Dissipationof theirohta_
46. Doldrumsoccur roughly between: - { (
(A) 30°and40° N and Slatitudes (B) 38fand 60° N and Slatitudes
(C) 5°and30° N and Slatitudes (D) £%and 50° Nl and Slatitudes
47. Jet Streamis:
(A) A coldcurrent (B) Atribdtagy of ariver
(C) UpperarWesterlies (D) An curren‘y
48. Pressure conditionscan be shown onamap t;‘ (
(A) lsotherms 4 1 (B) Isobars
(C) Isohyets ) A (D) Isohdines
49. TheCoriolisforceattheequatoqii:
(A) Maximum s (B) Medium
(C) Nil . ‘fj (D) Minimum
50. Podzol Soi Ispomgv,‘!aﬂ developed:
(A)"Horizons - (B) A andB Horizons
(C)(A, B and CHoriz \\ (D) BandCHorizons
51. Therateof population growth started picking up considerably during :
(A) 4thCeénturyAD. / (B) 17thCenturyA.D.
(C) 20tk enturyA.D) (D) 18thCenturyA.D.
"r
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52. Which isthe correct sequence of the following four continents in ascending order of their
population ?
(1) Augrdia (2) Europe
(3) Africa (4) SouthAmerica
Select correct answer by using codesgiven below :
A 1, 4, 3, 2
B) 1, 3 4, 2
© 1, 2 3, 4
® 4 1, 3 2 M
1
53. Who dominated among themigrantsto Australasiaup to the beginning of the 20th century ? - /
(A) Britons (B) Spaniards JB
(C) Germans (D) French ( 'F
54. ‘CornBélt” of theworldis: oAl vy
(A) India (B) Austrdia P F
(C) USA (D) Chinag 4 {
55. Largest production of Merinowool comesfrom: -
(A) Audrdia (B)f New Zedl
(C) Turkey (D) USA
56. Which country istheleading producer of iron and stedl in Europe?
(A) UK. *Q(B) France
(C) Gamany (D) Poland
57. Thelargest exporter of pigiron mthev’d]d is:
(A) India (B) Japan
(C) China <14 (D) Bdgum
| - \
58. Theconcentricor zol -theor(/was{propounded by :
(A) Murphy (B) Vance
(C).Burges J 4 (D) Ullaman
- a
59. Di{asedsettlementsar foupd commonlyin:
(A) " Tamil Nadu (B) Kerda
(C) AndhraPradesh (D) Bihar
W
60. When adjoining townsgrow and mergetogether, itisknown as:
(A) Metropolis . (B) Agglomerdtion
© Con‘_ ion (D) Counter Urbanization
r
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61. Theapproachwhich suggeststhat social and cultural factors, rather than physica forcesaremost
influentia inthecreation of houseformis:
(A) Posshbilign (B) Culturd determiniam
(C) Stopandgodeterminism (D) Anti-physca determinism
62. Settlementswhich grow along theroad, river and canal are:
(A) Sguaresettlements (B) Rectangular Settlements
(C) Linear Settlements (D) Noneof them
b
63. Thechief meansof transport in Tundrasis: 1
(A) Cand (B) Sedge i /‘ .'
(C) Mechanical boat (D) Horse r r
64. Whlchamongthefollowmg|sthebascfactorford|V|d|ngtheworIdmtonatural reglons'{' 1 '
(A) Vegedion (B) Climate < r
C) Soils D) Topogr i 2%
(©) () Topdgragly ‘
65. ‘Elephantgrass isfoundin: . ' '
(A) Savanna (B) fPrairi
(C) Steppe (D) Pam
66. Theforestsof the Bastar region of Chattisgarh arethehomeof '
(A) Todas (B) Konkans f
(C) Bushmen ﬂ( (D) Noneofhem
67. Daryfarmingismost developedin: “{ {
(A) India (B) France
(C) Denmark (D) Switzerland
'
&
-
68. Theindigenouspeoplewho If/em'the Kaahari desert areknown as:
(A) Pigmies ’ {4 (B) Bantus
(©) Busmen q ‘ ) (D) Noneof them
69. Wh“edoésthéfamous; hr’ regionlie?
(AiEurope (B) NorthAmerica
(C)" South America (D) Africa
70. What isthedominant \ of climateinMaaysia?
(A) Des (B) Mediterranean
(C) Equetoria monsoon (D) Tropica Monsoon
71. Which cowntry isknown as*‘Land of Canals ?
(A) India (B) Pekigtan
(C) Bhutan (D) Nepa
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72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

‘Sui” isfamousfor :
(A) Coa deposits
(C) Minerd oil and natura gas

(B) lronoredeposits
(D) Daryfaming

Theleading producer and exporter of natural rubber intheworldis:

(A) Indonesa
(C) Thaland

The*Chumbi Valley’ islocatedin:

(A) Nepa
(©) India

The*ManglaDam' isbuiltontheriver :

(A) Jhdum
(C) Indus

Which of thefollowing States hasthelargest percentage of forest frgas ? { ‘

(A) Karnataka
(C) MadhyaPradesh

Agriculture together with forests and fisheries contfibute alfout

income.
(A) 38%
(C) 60%

(B) India
(D) Mdaysa

P
Eg)) hBAr;/Lg;na' . #{‘) |

(D) Sutlej <A y v

(B) ”
(D) Andaman and Nicobar
of our total national

(B) 50% |
(D) 70% €

9

Tarin Basin of Sinkiang experiencesstron@hegt wave causing discomfort during early spring. The

windispopularly knownas:

(A) Karohuran -

(C) Chinook % 2
a "'-.

(B) Katabatic
(D) Foehn

What arethe causesof adi Ob‘[I C teinperature changesintheatmosphere ?

(A) Convectionanda
(B) Latent heat of
© Expansononco

(D) (Pa?tiaﬂ absorption

ressonof theair
radiation by the atmosphere

Temperate cycl ones ar:’haracterl sted by which of thefollowing ?

(A) F[onts
(©) DryW| nds

(A) Gul quaba Jordan
© Cardlgan Bay — UK.

E1J-49858-A

Which %of thefollewing pairsisNOT correctly matched ?

(B) Divergingwinds
(D) Hotwinds

(B) Gulf of Aden — Yemen
(D) LinguriaSea — Greece
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82. Themostimportant reason for declining forest resourcestoday is:
(A) Soil erosion (B) Forestfire
(C) Hoods (D) Excessfdling
83. Whichoneof thefollowingisnot asoil forming process?
(A) Westhering (B) Trandocation
(C) Gleying (D) Hydraion
84. The Amazon Basinremainsabackward region becauseof : ) Hk
(A) Lack of natural resources (B) Inaccessibility {‘ .
(C) Primitivetriba way of life (D) Climatichazards - / |
V. N/
85. Intheworldviticulture, horticulture, semi-culturearewdl | developedinthe: r r
(A) Monsoonregions (B) Tropicd highlands - |
(C) Mediterraneanregions (D) Marinewest coastar'eq 'fr"
86. Whichoneof thefollowing pairsiscorrectly matched ? - k‘ ’J
(A) Taiga — Rosewood B) T |cal deuduous aple
(C) Mediterranean — Olive (D) — Mahogany
87. Bamboo and Pinetreesaregenerally found inwhich ofie of the mgtyp&sof climates?
(A) Taga (B) Tropicel
(C) Mediterranean (D) Savann
88. Eutrophication of lakesisconsequenceof the ulation of :
(A) Siltload 4 (B) Sewag_e
(C) Nitratesand Phosphates ) A (D) Vegetation
89. The South Western part of Cdliforpiaisknownfor :
(A) Subsstencefaming < 5 7 (B) Forestry
© Temperategrainfarming( ‘;' (D) Mediterraneanagriculture
90. Lateritesoilsarepr by :
(A)Hydrationand nation (B) Hydrolysisand oxidation
(C)(Leechingandoxid (D) Hydrationand cacification
91. Whichoneof thefollo\zr ng typesof soilsisproduced by granite and gneiss on wegthering ?
(A) Red * (B) Black
(C) Ydldw (D) Laerite
92. Whichofthefollowingisnot agreen housegas?
(A) Car nd|OX|de (B) Methane
(© Nltrousmde (D) Argon
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93. Pantshaving thorny leavesand penetrating rootsareclassified as:

(A) Xerophytes (B) Hygrophytes

(C) Mesophytes (D) DesertPlants
94. Thebiomewiththeshortest growing seasonis:

(A) Savanna (B) Taga

(C) Tundra (D) Chapard

95. Inwhich of thefollowing countries, has maximum damage to the forests been caused by acid* .\
ran?

L

(A) Span (B) TheNetherlands / |

(C) Poland (D) Itdy r "
96. Theterm'Occidenta’ relatestothecultureof : - |

(A) South-EastAsia (B) North-Western Europe} v ¥

(C) MiddleEast (D) Africa { 1% F

-q

97. Thehighest growthrateof populationisnotedin: P *‘

(A) India (B) da

(C) Bangladesh (D)f Sri Lanka

98. Mesiabelongto: ;
(A) Gobi desert B) Al desert £
(C) Tropical Africa 4 (D) Sahara
L

99. Which of thefollowing characteristicssymibolisethe oriental cultural redlm?

(1) Indudridization } A ) bintfénilybond
(3) Subsigtenceagriculture \ (3) Urbanization
Select the correct answer usi ng gh‘? cod% given below

(A) 1,2and4 g ) (B) 2and 3

(©) land3 _ ( b D) 2,34

100. Which oneof thefowi ngistheaborigina tribeof Maaysia?
(A) Ainu’ (B) Fua

© (Seka ' :\\ (D) Onge

101.Which oneof thefollowihg pairsiscorrectly matched ?

(A) Masa"~ Patagonia (B) Kirghiz — Kazakhstan
(C) Mééanesians — Maaysia (D) Pygmies —Tanzania
102. Thefirst'scholar to formulatethelawsof migrationwas:
(A) L.A.Kosnsi (B) R.M.Prathero
(C) EG.Reyensein (D) W.Zdinski
ElJ-49858-A %{E [Turn over

www.examrace.com



103. Which oneof thefollowing ethnic groups does not belong to Mongoloids?
(A) TheYakuts (B) TheSamoyeds
(C) TheRedIndians (D) TheBantus

104.Which one of thefollowing explainsthe* Late Expanding Phase’ of * Demographic Transition
Theory’ ?

(A) Highbirthrateand high degthrate (B) Highhirthrateand declining desthrate
(C) Dedlininghbirthand declining deathrate (D) Low birthrateandlow deathrate
1

105. Thelargest industrial region of Russiaisat : {‘ ‘:

(A) Irkutsk (B) Moscow—Gorki - / .

(C) Torusk (D) Karaganda \J { v
106. The provincesof Hunan and Chang—Jiang of the Southern regionin Chinaisknownasthe: |

(A) Region of Sorrow (B) Playgroundof Chinal / v ¥

(C) Industrial region (D) Ricesbow { 1 o F

-q

107.Theloessuplandsin Chinaarelargely devoid of forestsd
(A) Agriculturd expandgon (B)
(C) Excessveexploitation of forests (D)f Over grazin

108. Theriversof Africaareaslargeasthosein North and South Ameigé, but they do not attract much
transport because: V.
(A) They passthrough denseforests '
(B) Thepeopleinhabiting theregionarenot %erci a mind
(C) Their coursesarebroked by cataract§ agel waterfalls
(D) They traversethrough resource pbq ar

109. Themajor amount of wheat in Y k[a neisproducedintheareaof :

(A) AcidSail " \ (B) Podzol Soil

(C) Black Eath)Soil (e (D) RedSoil
110. TheJapanesearef@ driceegtersasthey :

(A) areAsans. (B) areBuddhists

(C) seultivatericeand (D) importfishandrice
111. World'sleading produjof tobaccois:

(A) Ctyna (B) USA

(©) Indid (D) Russa
112. Theyidl@of cotton perhectareishighestin:

(A) Brazf (B) USA

(C) Inda g (D) Egypt
ElJ-49858-A 14

4,

www.examrace.com



113. Weber’smodd of industrial location hasbeen usefully applied tointerpret the changing | ocation of
theBritish:

(A) lronand stedl industry (B) Cottontextileindustry
(C) Ship-buildingindustry (D) Heavy enginesringindustry
114. Thegreatest concentration of China scoa depositsisin:
(A) Hope (B) Shantung
(C) Shanshi and Shenshi (D) Szechwan
115. Theextensve coffee plantationsin Brazil arecalled : ‘:
(A) Fazendas (B) Traal - / |
(C) Corrds (D) Edtancias r‘j ’ { v/
116. Theimportant iron oremining region Stuated in Siberian Russiais: - |
(A) Krivoy Rog (B) Kursk “ A vy
(C) Magnitogorsk (D) Kuznetsk ..k F
117.Between which one of thefollowing pairsof portsdoes acanal shorten the distancetothe
maximum?
(A) Liverpool and Shanghai (B New ork and Honolulu
(C) Liverpool and Sydney New Yorkand San Francisco
118. The shortest routefrom LosAngelesto Moscow isover the:
(A) AtlanticOcean (B) Pacmc
(©) NorthPole (D) South
119. Inwhich oneof thefollowing mountai r’fitggof SouthAfrica, aetheworld sgreatest goldfields
located ?
(A) Roggeveldberg 4 2 (B) Grout Swartberg
(C) Witwatersand < o 5 (D) Drakensberg

!Jl\

120. The Canadian Pacific "Iwaysruntbetween:
(A) Edmonton and (B) Montredl and Vancouver
(C)Ottawaand Pri né Rupert (D) Haifax and Vancouver

C, T
¢
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